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QUESTION 1

Which three statements are true about compression of backup sets? 

A. Compressed backups can only be written to media. 

B. Binary compression creates performance overhead during a backup operation. 

C. Unused blocks below the high-water mark are not backed up. 

D. Compressed backups cannot have section size defined during a backup operation 

E. It works only for locally managed tablespaces. 

Correct Answer: BCE 

"RMAN also skips other datafile blocks that do not currently contain data, if all of the following conditions apply: The
COMPATIBLE initialization parameter is set to 10.2 There are currently no guaranteed restore points defined for the
database The datafile is locally managed The datafile is being backed up to a backup set as part of a full backup or a
level 0 incremental backup The backup set is being created on disk. References:
https://docs.oracle.com/cd/B19306_01/backup.102/b14194/rcmsynta009.htm#i1015382 

 

QUESTION 2

Your database instance is abnormally terminated because of a power outage. At the next startup, from which point in
the redo log does the recovery start? (Choose the best answer.) 

A. from the most recent incremental checkpoint 

B. from the beginning of the current redo log file to the checkpoint position 

C. from the last committed transaction 

D. from the beginning of the current redo log file until the instance failure 

E. from the last complete checkpoint position 

Correct Answer: E 

Reference: https://docs.oracle.com/cd/B28359_01/server.111/b28318/startup.htm#CNCPT005 

 

QUESTION 3

You notice a performance change in your production Oracle 12c database. You want to know which change caused this
performance difference. 

Which method or feature should you use? 

A. Compare Period ADDM report 

B. AWR Compare Period report 
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C. Active Session History (ASH) report 

D. taking a new snapshot and comparing it with a preserved snapshot 

Correct Answer: B 

Comparing Current System Performance to a Baseline Period You may have noticed a performance change on a
production system and would like to know why, or you may have implemented a change to a production system and
want to know the effect of the change, such as increased concurrency waits. The Compare Period ADDM compares the
performance of the database server in two time periods, and returns a report describing the performance changes and
the root origin of the changes. The Advisor can analyze any Oracle RDBMS version 10.2.0.4 or later monitored by
Cloud Control. The following procedure explains how to initiate a report from the Compare Period ADDM. 

 

QUESTION 4

You want to move your existing recovery catalog to another database. 

Examine the steps: 

1) Export the catalog data by using the Data Pump Export utility in the source database. 

2) Create a recovery catalog user and grant the necessary privileges in the target database. 

3) Create a recovery catalog by using the create catalog command. 

4) Import the catalog data into the new recovery catalog by using the Data Pump Import utility in the target 

database. 

5) Import the source recovery catalog schema by using the import catalog command. 

6) Connect to the destination database. 

7) Connect as catalog to the destination recovery catalog schema. 

Identify the option with the correct sequence for moving the recovery catalog. 

A. 1, 6, 4 

B. 2, 3, 7, 5 

C. 1, 2, 6, 4 

D. 1, 2, 3, 6, 5 

Correct Answer: B 

 

QUESTION 5

You create a new database by using the CREATE DATABASE command in SQL*Plus, with the ENABLE PLUGGABLE
DATABASE clause specified. 

Which statement is true about the database that is created? (Choose the best answer.) 
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A. It is created as a non-CDB that becomes a CDB after the first PDB is plugged in. 

B. It is created as a container database (CDB) with CDB$ROOT, PDB$SEED, and a pluggable database (PDB). 

C. It is created as a PDB that must be plugged into an existing CDB. 

D. It is created as a CDB with the CDB$ROOT and PDB$SEED databases. 

Correct Answer: D 
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